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Question 1-

A person purchasef rice for ¥ 840 and

sold 1t at& 15.60 p@What 1s his percentage profit ?

T 1- Th I

@ (P— Q& Sl Tohetl § si=rdT g1 3HehT AT TfdeTd T 22

he
o _’:{/l/ @7

SP:%/S'&)/%. -

F 2840 H 70 forall =maret @iiedT © 3T 3 %15.60
P<3 360
30 A.20%
PZ = 3%3 Yoo B-30%
/(/% C.25%
o= BOX D.10%
== E. None of these
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Question 2-le are bought at the rate qf ¥ 350) and sold

@ (-P each= S i at the rate of ¥ 48 per dozen. The percentage profit or loss 1s?
T 2- 50 TS T350 I G H TSI ST & 3R T48 i s ol 3T

Sf Cath= %‘g g &7 ST 21 AT 3T 21 a1 Tfrerd =7 22

L/6 = inOo .
i(i 30 A.30.12% profit
= L/ B. 54.22% loss
5 Ry \C42.85% loss
D.35% profit
E. None of these
o i I B
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Question 3- A person sold an item for ¥ 6,300 and incurred a loss

of 30%.)At what price should he have sold the item to have gained

a profit of 30% .
T 3- Ueh S ih Ueh o] ol £ 6,300 H ST @ 3713 30% i &

Rl 21 30% ST TATH STH 3t o [oTT I I ol Tohd o T sl

@ ﬂ;%QQJT‘?
. O
sh= @@@ XISO 30 A.Rs 12,000
T B. Rs 10,000
=3 € Rs 11,700
/i D.Rs 12,300

E. None of these
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C \? P \00° \" Question 4- A person incurred a loss n selling an article

for T 1650. What was the cost price of thearticle ?
S 4- Teh Hfch ohl Teh o ol T1650 H s= TX 45% 6T &1 BId ol
0|{~C| hl ond J-IQ"’v{ T IT?

OF 559 = Fgso
[+/ —
=330 30 A Rs 3,000
(P l0076 ~ B0 X[og B.Rs 2,000
~Fx C.Rs 4,000
\g D.Rs 6,000

E. None of these
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Question 5- Ravi purchased an article for ¥ 2880. At what price
should he sell it so that he earns a profit of 12.5% ?

T 5- T 7 Teh ] T2880 W Elial| 38 39 fohe Hod W s=HT A1RY
Tk a8 12.5% ohT AT JTSTd hL eh?

@ {Z'SZ: LQ})]SP:&H

, =
™~ (P 3 30 A.Rs 3,000
@:{A&&Q “B. Rs 3,240
/: ? 566 C.Rs 2,240

D.Rs 4,240

S— E. None of these
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Question 6- A person bought an article at 10% loss. If he
sells it at Rs 900 more then he will ga@. Find the
cost price of article.

@ T 6- Teh Si<h o Teh o 10% BT 9 @RI Fie 8 36 900
ngf " T ST T ST & Al Z6 20% T I BRTT| ] I 363
(P> (00259 _ w3 ifir AcRs 3,000
B.Rs 2,000
foy,  JTI0=T90c (30 »
Seac . C.Rs 15,00
16 1=330
CP D.Rs 4,240
0= JoX [0 E. None of these
— 30%
) |
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Question 7- The selling price of an article 1

@ LQ,+ ( P: 5 times of its cost price. Find the profit% or 16sS %.
\q;_ Zy1 T2 W5 7- Teh & Al oIsha Hod 3Heh sh3 7o ol 7/5
= /;%L T &1 TATH% AT BT % JT shifs

", 26 A.20%
F/ b/sé‘ﬁ% 20 B.25%
-y C.35%
. D.40%

E. None of these
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Question 8- The cost price of 12 apples 1s equal to
@ C ? | = S P [ O selling price of 10 apples. Find the profit percent.

T 8- 12 §T ol 363 Ao 10 § oh {oI5hT Ao o

C m
P j P_o SR 2| AT 9T T ehifsr|
A.16.66%
(’) B.20%
0 e Z
/6 /?L.—)d’o;b 30 C. 18%
» D.25%
= ZOA E. None of these
i L i ‘5"" Y
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Question 9- Two article were sold@ch First
sold at 20% loss and other at 20% profit. Find the profit
and loss percent on whole transaction.

| v - . 2 1 9- QT FEGAL Rl 500 T H SI=T T T&et 20% BT T
A N <—'> STl T ST THLU 20% ATH T, G - T AT ST 2T

5 s 31
= - / A.No profit no loss
;_i B.20% loss
C. 20% profit
30 P 4 percent loss
E. None of these
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Question 10- A man gain 20% after selling an article
at a certain price. If he sells it at triple the price then
. S P find profit percent.

@ 5 é T 10- Teh oA {<h ohl Teh SI&q 3l Teh [HTEId Hod W o= o

2@7 SIT& 20% T ATH BIAT & TS I8 FH T THT hiAd T
K 5’ X3 ST © A1 AT TTeRTd T ahits|
/. “J& A.200%
CF. 30 B. 300%
PY< 13y 40
] .

E. None of these




SBI CLERK 2023 (3TIIR o )

Question 11- A person sells an article and calculate

@ the profit percent on i o hich 1s 20%.
“?O 7 5 L Find the actual profit percent.
2 i T 11- Teh A i<h Th & &ﬂdl%ﬁ?saéﬁmq ﬁc\
> O O AT TfTeTe Rl TUHT ShLdT @ S 20% 2

P 5 JTA=Td 1A ehiteTg| o
C, - 10%
- o Pei
Adﬁc& Foct Lx/\go D.40%
_ /L‘/ E. None of these
;,ZSag
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Question 12- A person sells an article at 10% profit.
O > Find his on the selling price.

S 12- Th Afch Teh % I 10% TTH X =T 3 forsra

lo" = ‘ _
P = Sp=1 e I SHhT AT ST 1 Shifori)
(o}
(P
P o s A&.9.09%
/ M? pree= TXlOO 30 B.11.11%
< 15_ 9 0a. C.12%
P i 37 D.15%

E. None of these
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e f 4o
/7\00 Question 13- An article 1s sold at 300% profit. Then
@ 5 P = C(D‘f' (19 1007, find ratio of cost price and selling price.

T 13- T 9&d 300% AT 9L I STl 81 1 56l 7o

Ri7= L{ooy I forshd W =T SUT 14 shifSIU
(P= looy
i A.1:2
fc{‘{fo = [06 ! 455 30 B.1:3
= ’,17 C.14
e’ D.1:5

_ﬁ

E. None of these
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Question 14- A sells an article to B at profit of 20% .

B sells it to Cat 25% profit I as paid Rs 225 then

@ ”q ‘ B C at what price A had purchased 1t?
, 9% 14- A T 9% B %l 20% o AT QL a=d1 &l B 36 C
20 @L YA G ol 25% TATH T SI=IAT & Fid C T 225 T ol T feha
5 W g REAER P e o
a ' A.Rs 200
1 0 1 1S =T 225 30 2: Bg
ZSZ;J@ =35 D.Rs 250
LL Al 0 = [5x 3 E”None of these
P -7
XS
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AL Question 15- The cost price @)ananas 1s Rs. 32.

@ B ( F/ After selling 18 bananas at the rate of Rs. 12 per dozen, the
q F shopkeeper reduced the rate to Rs. 4per dozen. The per cent
1~ loss 1s
75-/u/

5%:2 =2, T 15- ST ESH ohell 3T shd Hod 32 B9 B 12 %9 Tiel &siq i

LY 18 el sIe o TG, RMAN 1 TR 4 T Fid ESi L

3
LYO: KX@% e wftrere =l w82 A.20%
K 2 atticky <\ B B-37.5%
Iy A é, "~ %Zq C. 12%
- ST'SZL&U D.16%

E. None of these
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Question 16- A person bought two article at Rs 39000. He sells
first at 15% profit and other at 20% loss. If the selling price of
@ C P S P both article 1s same then find cost price of first article.

T 2o X3 T 16- Th 4ith 1 39000 9 H & TE]T G| 98 Taed 15% AT
T ST GHT 20% BT I ST/l 2. afz 2 TEIA! I sk 7
iy - . M &, ?ﬁ%?ﬁ S T 363 & 1A shiTorI|

h \0\5 < %90 A.Rs 12000
8O 4 (13- 30 iy
\+H’S~(q5 = T2o0, 30/ “®Rs 16000
C.Rs 20000

le = 3%) C) =
/A . 207 |© L :2\27;:0)( A9 D Rs 32000
>(P ,.=£L E. None of these

i’CP
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Question 17- The profit earned after selling an article for Rs
s the same as the loss incurred after selling the same
article for Rs 350.)Find the cost price of article.

CP= H50+3750 T4 17- Tk awq 1 450 &0 & dar 3 a1 7ffa @ 3t oeg 1
350 T H S o S18 g8 BT o GHT & S oAl 3hF Hed 1A

2 shifsTT |
. L( ! Q& A.Rs 200
= O
30 B.Rs 300
-€7Rs 400
D.Rs 600
E. None of these
W R de
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Question 18- A person sells half of his goods at 20%
profit and half at 40% profit. Find his overall gain

percent.

@ %MT) 200 Ueh Afch 370 HICA T SATET W 20% SATH UL 3T 37T
40% ATH U ST 8] SEhT T TATH TI=Td 1t 3hiisl|

CP= 2006 A.10%
(00 | P Zéo] O 5 20%
5 O 30) Fleson
XS ( I, +L10'4 FVJ‘ Sc_.@”)(L@o:}goy D.40%
1)9 IZ\O (L1 % " E. None of these
N
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